
MATHS

BOOKS - CENGAGE MATHS (HINGLISH)

GRAPH OF INVERSE TRIGONOMETRIC FUNCTIONS

Illustrations

1. Solve  graphically. Check the differentiability of f (x)

=min. . Also find the range of y = f(x)

Watch Video Solution

sin− 1 x ≤ cos − 1 x

{sin− 1 x ≤ cos − 1 x}

2. Evlute , where  re[resemts the greatest

integer function.

Watch Video Solution

[ lim tx→ 0 ]
tan− 1 x

x
[ ⋅ ]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wWCTn3RHLmYF
https://dl.doubtnut.com/l/_fugzNrmcmOHB


3. Find the values of a for whch  will have at least

one solution.

View Text Solution

sin ⋅ ( − 1)x = |x − a|

4. Draw the graph of

.

Watch Video Solution

y = sin− 1 2x  and y = sin− 1(x/2)  and compare with y = sin− 1 x

5. Draw the graphs of  resresent the

fractional part function.

Watch Video Solution

y = sin− 1{x},  where { ⋅ }

6. Draw the graph of y = sin− 1 x + cos − 1 x.

https://dl.doubtnut.com/l/_fugzNrmcmOHB
https://dl.doubtnut.com/l/_QFWYKsl663mY
https://dl.doubtnut.com/l/_rAu5MmopgFKo
https://dl.doubtnut.com/l/_CLiDuGpJhakG
https://dl.doubtnut.com/l/_z1sMflpxiQLB


Watch Video Solution

7. Draw the graph of 

Watch Video Solution

y = sec− 1 x + cos ec− 1x

8. Draw the graph of .

Watch Video Solution

y = cos − 1(x2)

9. Draw the graph of  and compare wire the graph of 

.

Watch Video Solution

y = sin− 1 x3

y = sin− 1 x

10. Draw the graph of

f(x) = [tan− 1 x],  where [ ⋅ ]  represents the greatest integer function.

https://dl.doubtnut.com/l/_z1sMflpxiQLB
https://dl.doubtnut.com/l/_sd9l3JxXj0hx
https://dl.doubtnut.com/l/_PnsM7ycuaNAx
https://dl.doubtnut.com/l/_jmIqpKbaBacs
https://dl.doubtnut.com/l/_rLGP8qB4gCvF


View Text Solution

11. Draw the graph of . Also find the point of inflection.

View Text Solution

y = sin− 1(logex)

12. Draw the graph of the function .

Watch Video Solution

y = f(x) = tan− 1( )
1 − x2

1 + x2

13. Draw the graph of  or 

Watch Video Solution

y = sin(sin− 1 x) y = cos(cos − 1 x)

14. Draw the graph of 

Watch Video Solution

y = tan(tan− 1 x) or y = cot(cot − 1 x)

https://dl.doubtnut.com/l/_rLGP8qB4gCvF
https://dl.doubtnut.com/l/_ROhtnnItSNCk
https://dl.doubtnut.com/l/_iO1w6TsROwwO
https://dl.doubtnut.com/l/_8uuc912OI7SX
https://dl.doubtnut.com/l/_PIYbu2LZW35W


15. Draw the graph of 

View Text Solution

y = sin− 1(sinx)

16. Draw the graph of .

Watch Video Solution

y = − cos − 1(cos x)

17. Let  be defined by  The

number of points  4satisfying the equation 

is

Watch Video Solution

f : [0, 4π] → [0, π] f(x) = cos − 1(cos x).

x ∈ [0, 4π] f(x) =
10 − x

10

18. Draw the graph of 

View Text Solution

y = tan− 1(tanx)

https://dl.doubtnut.com/l/_S8tQ4xruFCsu
https://dl.doubtnut.com/l/_Au2ikWUWy1fb
https://dl.doubtnut.com/l/_cOBQpQvN6h67
https://dl.doubtnut.com/l/_pVo4EbHLe2DA


19. Draw the graph of 

Watch Video Solution

y = cot − 1(cot x)

20. Draw in graph of .

Watch Video Solution

y =  cosec− 1(cosec x)

21. Draw the graph of 

Watch Video Solution

f(x) = sec− 1(secx)

22. Fide the area bounded by  and the x-axis for 

.

Watch Video Solution

y = sin− 1(sinx)

x ∈ [0, 100π]

https://dl.doubtnut.com/l/_qhlHTF2bHGcO
https://dl.doubtnut.com/l/_fCq1mR7wbWdQ
https://dl.doubtnut.com/l/_esX8Q1uFwS2e
https://dl.doubtnut.com/l/_rqoh9pLQprhC


23. Find the sum of roots the equation  denotes

the greatest integer funtions.

View Text Solution

cos − 1(cos x) = [x], [ ⋅ ]

24. Draw the graph of . Find the range

of the function. Find the points of non-differentiability. Also find the

value of  dx

Watch Video Solution

f(x)sin− 1|sinx| + cos − 1(cos x)

∫
10π

0

[sin− 1|sinx| + cos − 1(cos x)]

25. Draw the graph of  and heance the graph of f(x)

.

View Text Solution

y = 2x2 − 1

= cos − 1 2x2 − 1)

26. Draw the graph of y = tan− 1( )
2x

1 − x2

https://dl.doubtnut.com/l/_QDvXQH1l5B8C
https://dl.doubtnut.com/l/_ik4xLKK0lBJh
https://dl.doubtnut.com/l/_MoeZYrxSax1Z
https://dl.doubtnut.com/l/_dDhwaFUYlpUO


Exercise

View Text Solution

27. Draw the graph of 

View Text Solution

y = sin− 1( )
2x

1 + x2

28. Draw the graph of 

View Text Solution

y = cos − 1( )
1 + x2

1 + x2

29. Draw the graph of

View Text Solution

y = sin− 1|sinx| and y = (sin− 1|sinx|)
2
, 0 ≤ x ≤ 2π

https://dl.doubtnut.com/l/_dDhwaFUYlpUO
https://dl.doubtnut.com/l/_GvSpUAHg0jmV
https://dl.doubtnut.com/l/_48tbj5LSal0A
https://dl.doubtnut.com/l/_RZlrEAOVtWxE
https://dl.doubtnut.com/l/_uQaaU2Utkszq


1. Draw the graph of 

Watch Video Solution

y = tan− 1 x + cot − 1 x

2. Find the number of real solution to the equation

Watch Video Solution

3 cos − 1 x − πx − = 0
π

2

3. Evalute , where  represets the greatest

interger function.

Watch Video Solution

[ lim
x→ 0

] = 1
sin− 1 x

x
[ ⋅ ]

4. Solve  graphically. Also find where f(x) = max. 

 is non-differentiable. Also find the range of 

.

W t h Vid S l ti

tan− 1 x > cot − 1 x

[tan− 1 x, cot − 1 x]

y = f(x)

https://dl.doubtnut.com/l/_uQaaU2Utkszq
https://dl.doubtnut.com/l/_a9CC8cftB7Qd
https://dl.doubtnut.com/l/_TyCRtf0QBFB3
https://dl.doubtnut.com/l/_Lec4rANLLRWV


Watch Video Solution

5. Match the colums. 

Watch Video Solution

6. Drew the graph of  where  represents

the greastest integer function.

View Text Solution

y = cos − 1 √log [x ]( )
|x|

x
[ ⋅ ]

7. Find the value of .

Watch Video Solution

∫
100π

0

sin− 1(sinx)dx

https://dl.doubtnut.com/l/_Lec4rANLLRWV
https://dl.doubtnut.com/l/_IVaOlBXEukgh
https://dl.doubtnut.com/l/_faxAxLRtWzal
https://dl.doubtnut.com/l/_YEBa3DXuvvYe
https://dl.doubtnut.com/l/_rGhOOislIGKv


8. Draw the graph of 

Watch Video Solution

y = sin− 1,
1

x

9. Draw the graph of 

Watch Video Solution

y = sin− 1(x2)

10. Draw the graph of

Watch Video Solution

y = cos − 1 x3  and compare with the graph of y = cos − 1 x.

11. Draw the graph of .

Watch Video Solution

y = cos − 1(2x)

https://dl.doubtnut.com/l/_rGhOOislIGKv
https://dl.doubtnut.com/l/_W0fW88zUt8TA
https://dl.doubtnut.com/l/_vunM60OXQzLP
https://dl.doubtnut.com/l/_hQSQA3F4wQmD


12. Draw the graph of

.

View Text Solution

y = cos − 1{x},  where { ⋅ }  represetns the fractional part function

13. If , has seven roots, then find values of

n.

Watch Video Solution

cos − 1(cos x) = , x ≥ 0
n − x

n

14. Draw the graph of  represents the

greatest integer funtion.

View Text Solution

f(x) = [cot − 1 x],  where [ ⋅ ]

15. Draw the graph of .

Watch Video Solution

y = cosec(cosec− 1x)  or y = sec(sec− 1 x)

https://dl.doubtnut.com/l/_QOpBthoB167n
https://dl.doubtnut.com/l/_7xr0nx8qKamu
https://dl.doubtnut.com/l/_2OooNtWsmwrL
https://dl.doubtnut.com/l/_A6nLBReeABKY


16. Draw the graph of .

Watch Video Solution

f(x) = cot − 1( )
2 − |x|

2 + |x|

17. Draw the graph of 

View Text Solution

y = sin− 1(2x√1 − x2)

18. Draw the graph of .

View Text Solution

y = tan− 1( )
3x − x3

1 − 3x2

https://dl.doubtnut.com/l/_A6nLBReeABKY
https://dl.doubtnut.com/l/_vpFkO8sQlhMj
https://dl.doubtnut.com/l/_475jWgVAs0Vx
https://dl.doubtnut.com/l/_GO4dMixrGyqK

